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0-SD.is it is the min distance open to vision of a

driver of a vehicle trying to over take the slow vehicle

a head safely against the traffic in opposite doin

- Also called Passing sight distance
- OSD > SSD

- it is measured along the centre line de the road
.
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OSD = ditdz -193
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NIE - IRC Recommends reaction time = 2sec

* If Vb is not given then Vb = (4-16) Kmph
Vb = ⇐ " '5) Mls

N0TE_ - I - one road with one way traffic OSD = ditdz
-

2- Single lane with two way traffic 0SD= ditdz -1dg
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Overtaking zone : _

men

overtaking zone = 3 ✗ OSD

Max
, , = 5- ✗ OSD ¥5
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E- on a two way traffic road the
speed of overtaking

vehicle is 60km ph & Speed Of Slower vehicle is to kemph

If a = 0.92 Mls 2 . determine the BD .

-

AI Vc = 60 kmpn
. Vy= to rkmph ,

9=092 MISZ

* s= 0.2 Vb -16 = 0.2×40 -16 = 14m

1-= feat = = 7.*
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d , = 0.270 Vbtr = 0270×40×2 = 22.24

dg = 0.2>DUCT = 0.270×60×705 = 130.93

da = 2s + b

= 2×14+0 -270×40×7-85 = 115.29 .

OSD = di 1-dz -193

=

22.24+130.931-115.99=267.0941


